



















































































































Mat1275 HW9

2 on bothsides
4

2
Dividedby 4 onbothsides

I L

SimplifyLefthandside LHS
21 3 2 3 Xt

andRighthandsideRHS
2 6 2 3 3

2x 6 3

isolate on LHS ffga.tt
isolate non on RHS

Dividedby 3 on bothsides IIt I
x 3

JOΔ zero If 73 8
or 1 37

D or 0 8
xzorxff.noisolate X

Factor LHS lefthandside
10

2
9 2 0

x Ix ax
Δ zero 12 1 15 23 0

zero or Δ zero
2 51 9 or 5 7292

isolate x 2 or 5

X otf












x 3 7

Simplify LHS 3
2

722 22
3
2
17 2 0

Factor LHS I

Δ zero 5 or 3 I
zero or 0 30

z or

isolate X X 0I

The postwithwhiteborder is 2424 by 3 2

t.EEiIf.i
i iiig3

212 713 2 345

4 2 10 6 345

times 4 on bothsides 4 4410 6 4
3

16 2 40 134 355

Δ zero
16 740 11 o

I
zero or Δ 00 44 4 404

isolate X 4 1 4 11 0

E



www.tnmoues fEfttio where t is time

I
I

EÉ
an answer

Giggly
5 since too is not

87 39 55 factor ie

It
t 5 8 1 0 Δ zero

1 5 0 or 841 0 I 3905
What time is to feet aboveground

height 10

2T 81 39 0

or 8 395939

to or 8

t oort.FI both are the answers


